Answers to Odd-Numbered Exercises

02, Where (1) = a3 and p2(iv/3) = i+/3;

11, where pu1(ety) = @ and pi(iv/3) = —iv/3;
. where py(ery) = a3 and pa(i/3) = —iv/3;
M3, where [,L3(Ol;) =y and /,Lq(l«/g) = —l\/§

b. S;. The notation in (a) was chosen to coincide with the notation for §3 in Example 8.7.
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Group diagram
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Q(l«/g) = K{pn’ o1 o) Q(ﬁ) = K{po, w) @(aZ) = K{POY I Q(Ol3) - K(pu' sl

Field diagram

13. The splitting field of (x* — 1) € Q[x] is QU +/3), and the group is cyclic of order 2 with elements: ¢, where ¢ is the
identity map of Q(i V/3), and o, where o (i J3) = —i /3.

15. & F c. T e. T g F i F

25. Partial answer: G(K /(E v L)) = G(K/E)N G(K /L)

SECTION 54

3. Q2,0 V240, x% +4x0 +2x* + 2827 + 1;
QW2): V2, x* = 2; '
QGV2)): i(V2), x* = 2;
QW?2,i): V2 +i,x* —2x2 +9;
QW2 +i(V2): V2 +i(¥2), x* +8;
QW2 - i(W2): V2 - i(¥2), x* +8; ,
QD)2 %% = 2% ‘ J
QG): i, x>+ 1;
QGv2):iv2, % +2;
Q:1,x-1

5. The group is cyclic of order 5, and its elements are

‘ L ‘ (23] } (o] ‘ 03 ‘ (o}

-] 2| | edD | 8@ | ¢

where +/2 is the real 5th root of 2.



